1. KaneHgapHbIn y4eOHbIN rpaduk
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2. CBOAHbIE AaHHbIe
Kypc 1 Kypc 2 Kypc 3 Kypc 4 Wroro
ceM. 1| cem. 2| Bcero | cem. 1| cem. 2| Bcero | cem. 1| cem. 2| Bcero | cem. 1| cem. 2 | Bcero
TeopeTnyeckoe 0bydeHne 182/3| 18 |362/3(182/3|171/3| 36 |182/3| 18 [362/3|181/3| 13 |311/3[1402/3
D |3K3aMeHauunoHHbIE ceccum 22/3122/3(51/3|22/3|31/3 6 22/3122/3(51/3|22/3|11/3 4 |202/3
Y [YuebHas npakTuka 2 2 2
M [MNpou3BoACTBEHHAsA NpaKTMKa 2 2 2 2 4
I |loc. ak3aMeHbl u/unu 3awwmta BKP 4 4 4
K |KaHukynbl 2 8 10 2 6 8 2 6 8 2 82/3 |10 2/3{ 36 2/3
UToro 231/3|282/3| 52 |[231/3|282/3| 52 |231/3(282/3| 52 23 29 52 208
CryneHToB 17
pynn 2



